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1.

T 32 fIefFERGY  Free iR ERCEREE LIRERZ/V 7 (A)2GB

(B) 4GB (C)6GB(D) 8GB

THAENEREENEIES 7

(A) * WMV (B) * MPEG (C)*MP3 (D) *.RM

Which of the following is the correct definition of ERP (A)ERP = power input to antenna
(dBm)*antenna gain(dB) (B)ERP = power input to interrogator (dBm)+antenna gain(dB)
(C)ERP = power input to antenna (dBm)-antenna gain(dB) (D)ERP = power input to antenna
(dBm)+antenna gain(dB)

What is the approximate wavelength of the 13.56MHz frequency?(A) 33 cm (B) 22.1 m (C)
221 m (D) 16 cm

5. 216 bytes & %/D bits?  (A) 65536 (B) 64000(C) 524288 (D) 1000000
6. ELHIFE TSt (binary tree) BYSLFF=EH (preorder traversal ) £y <a,b,d.ef,g,c> » H

10.

11.

12.

13.

14.

135,

16.

FFE g (inorder traversal ) £y <d,b,fe,g.a,c> » Rl F¥I{a] & & i 6% FF &5 ( postorder
traversal ) ? (A)<ab,e,c,gfid> (B)<adb,(fecge> (C)<dfb,gcae> (D)<
d.f,g.e,b,c,a>

¥ CPU Z TAF$EE A 2.5GHz » BIEAEHREEA(Clock Cycle)fER % /1> ? (A)0.4ns

(B) 400ns (C) 2.5ns (D)250ns

£ C FESHVERF 6 x =25y = --x; %ﬁ%ﬂ?ﬁ@?ﬁ » AP A TR x By HY{H 3B Rfa 7
(A)1 EL2 (B)l B2 1(C)2 &1 (D)2

1P 4yEZEEGER] 192.168.x.x %%A?‘EJ IP fﬁiiLiiﬁ%‘éBEEH%‘L%@%%K’@E?ﬁﬁél%]ﬁ%

HERS RN [P > RS (T HUMER T A ERRLA 1P (7R MR P {irkE ?
(A )NAT (Network Address Translation) ( B) DHCP (Dynamic Host Configuration Protocol)
(C) DNS (Domain Name Server) (D)ARP (Address Resolution Protocol)

Arrange the units below in increasing order, from the smallest to the biggest. (A)bit MB TB
GB byte (B) bit byte TB MB GB (C) bit byte MB GB TB (D) bit GB byte TB MB -

BASIC » C» C++ > FlJava BEMMEERNGES F - F=(EFESHEEEAER - BEfBEER
FEREIERES 2 (A)BASIC (B)C (C)C++ (D)lava

OSI WyHMEEF B BT A EMRER LEENERAAL ? (A)EH/E (Transport Layer ) (B)
4pE 2 ( Network Layer ) (C)EH}#E4EE (Data link Layer)  (D)E A&/ (Physical Layer )
What kind of protocol should be used in the network settings if connecting to World Wide
Web in Windows XP? (A)TCP/IP (B) PPP (C) NetBEUI (D) IPX/SPX
FAEEE BN S FE IR AL E R T ELEM I hIAE 2SRl - WTHETT4R L Bhintess TIF » SRt
Einfw s (FRER N S E R R — R ?  (A)ERAR 75 (1aas) (B)$‘*HE
#(PaalS) (C)kAGHR5(SaaS) (D)EHIARTFS(Daas)

THIF—LEeE B R TCP {#i£/Y ? (A) HTTP 1 FTP (B)HTTP 1 DNS (C)DNS
#1SMTP (D)RTP #1 BGP

UFfEE S N ERR AN 280G ? (AFE3E %47 (Operating System)  (B)4H %S

HE SR
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(Assembler) (CYHEEFEI((Debug) (D)FIE E3(Browser)

17. Which of the following is legal IP, and it can set as a server? (A) 206.64.120.1 (B)
203.64.120.256 (C) 253.64.120.1 (D) 203.256.256.1 -

18. THBAF TCP B UDP BURLIK - (] & EEER 7 (A)FEEMNEEHE ( transport layer ) Y
E (B) TCP FiE45% 5 ( connection oriented ) 1] UDP R fitiH4E & 5] ( connectionless )
(C) TCP ‘A B {5 B e IR R e GO Thigiak - dbbi vl 5E (D) FTP ZfE R UDP
FylEimfg EEs

19. HIFEIE R 280 NI AL T 7 E{FEH ? (A) Linux  (B) Windows Server 2008
(C)Windows 98 (D)Unix

20. 0% - ANt B AR EGELE R A — R aREs - BRSNS » S84 T
W ? (A)FERR (noise) (B)UIHA (switch) (C)& (@ (buffer) (D)ififE (collision)

JEEEERE (B S )
1. FHHarE B4aE 2 Visual Basic 1230A BEUTIRHYEER 7
A=2
B=3
S=A A B + Abs(A - B)
Print §

2. DUFRE=UR BT Eig » B8« WEERZ Y
t=0;
for(x=1;,x<=4; x++) {
y=x*x;
t=t+vy;

}

3. THIM ¢ BXEEEE I ERETEREE 2 B 7
#include <stdio.h>
int main() {
mta=10,b=5,¢=1,d=7;

if(la>100&& b<6){
if(c<4||d>8)
printf("A");
else
printf("B");
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printf("C");
return 0;

}

4. {al38 XML? F1HTML A9 Rz R RfE? 55 2 EFEAH XML FireyEm -



